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1. In parallelogramKLMN, diagonals LN and KM intersect atO. Then AMNK =
N M
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(i) AKLM (ii) ANKL (iii) ALMN (iv) AMNO (v) AKLO

2. With the given data in the figure, AGFI = AHEI by which property?
G F

E H
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(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SAS Congruency (v) SSS Congruency

3. With the data in the given figure, AGIH = AH)G by which property?
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(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) not congruent (v) SAS Congruency

4. With the data in the given figure, AFGI = AFHI by which property?
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(i) ASA Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) not congruent (v) SSS Congruency



5. In rhombusLMNO, diagonals LN and MO intersect atP. Then AMNO =
0 N

L M

(i) ALMN (ii) ANOL (iii) AOLM (iv) APLM

6. In kiteHIJK, H) and IK are diagonals. ThenALJK=
)

H

(i) ALIH (ii) AKl (i) AKIH (iv) ALKH (v) ALJ

7. In the given figure, which of the following is true?
B R

C D 5 T

(i) ACDB = ARST (ii) ABCD = ARST (iii) ABCD = ASTR (iv) ABCD = ATRS (v) ABCD = ATSR

8. With the data in the figure, AHKI = AHK] by which property?
H

(i) not congruent (ii) SAS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) RHS Congruency



9. In the given figure, ACDE = AQRS. Which of the following are true?

a) RS=15cm
b) RS =16 cm
c) SQ=15cm
d) QR=16cm
e)SQ=11cm
f) QR =15cm
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(i) {b,ef} (i) {cb,e} (i) {a,b} (iv) {ce} (v) {d,af}

10. In kiteFGHI, FH and Gl are diagonals. Then AHGF =
H

F

(i) AJHG (ii) AJIF (iii) AHIF (iv) AIGH (v) AIGF

11. With the data in the figure, ABEC = ABED by which property?
B

(i) ASA Congruency (ii) SAS Congruency (iii) not congruent (iv) SSS Congruency (v) RHS Congruency



12. In the given figure, which pair of triangles are not congruent ?

fig 3 fig 4
Oy Oy
I Il

figl fig 2

(i) fig4 (i) fig2 (i) figl (iv) fig3

13. Which of the following are true?

a) Any two triangles are congruent.
b) Any two triangles are similar.

c) Any two circles are similar.

d) Any two squares are congruent.
e) Any two squares are similar.

f) Any two circles are congruent.

(i) {a,e,c} (ii) {ce} (i) {d.fc} (iv) {a,c} (v) {be}

14. With the data in the given figure, AHKO = AIJO by which property?
K ]
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(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) ASA Congruency



15. With the data in the given figure, AIO) = AIOK by which property?

/

(i) RHS Congruency (ii) not congruent (iii) SSS Congruency (iv) SAS Congruency (v) ASA Congruency

K

16. In the given figure, which pair of triangles are not congruent ?

<A

fig 3 fig 4

N AA

figl fig2

(i) fig2 (i) fig4 (i) fig3 (iv) fig1l

17. ldentify the property by which the two given triangles are congruent
R
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(i) RHS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) SAS Congruency



18. With the data in the figure, AADB = ACDB by which property?
A

B G

(i) SAS Congruency (ii) ASA Congruency (iii) RHS Congruency (iv) not congruent (v) SSS Congruency

19. Identify the property by which the two given triangles are congruent
D R

(i) RHS Congruency (ii) SSS Congruency (iii) SAS Congruency (iv) ASA Congruency

20. With the data in the given figure, AGJl = AGHI by which property?
!

G

(i) SAS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent

21. With the data in the given figure, AlJL = AIKM by which property?
!

L | K M

(i) RHS Congruency (ii) not congruent (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency



22. Which of the following are true?

a) Similar figures have same area.
b) If two figures are similar, then they are congruent too.

)
)
c) Similar and congruent are not synonymous.
d) Congruent figures have same area.

)

e) If two figures are congruent, then they are similar too.

(i) {cd,e} (i) {b,d} (ii) {ab,e} (iv) {ac} (v) {a,cd}

23. With the data in the figure, AGJH = AHIG by which property?
J |
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(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent

24. In rhombusHIJK, diagonals HJ and IK intersect atL. Then AHI) =
K J

H I

(i) AlK (i) AKHI (i) ALHI (iv) AJKH

25. With the data in the given figure, AOJI = AOHG by which property?
J |

G H

(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency



Assignment Key

1) (i) 2) (i) 3) (iii) 4) (iii) 5) (iii) 6) (v)
7) (ii) 8) (i) 9) (i) 10) (iii) 11) (iii) 12) (i)
13) (ii) 14) (iv) 15) (ii) 16) (i) 17) (ii) 18) (iv)
19) (iii) 20) (ii) 21) (iii) 22) (i) 23) (v) 24) (iv)
25) (i)
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